AR ERERR (HILREFT) [FRi2 651182 7H~29HAED]

BT uSv/h
_ T AlEH

i E=3 | ;E = 17
e REFR BIREP | AERE [ e
- . o 0.13 0.14 0.13
?%E\]mtggﬁifg‘ R ETR PRRE 50cm 0.12 0.11 0.14
' REE 50cm 0.08 0.07 0.07
- Tcm 0.14 0.13 0.12
B RE PRTRE 50cm 0.14 0.13 0.12
"E= | 50am 0.10 0.09 0.09
. Tan 0.12 0.12 0.12
=oEER | TR 50cm 0.13 0.13 0.13
RE=E 50cm 0.10 0.11 0.10
- Tcm 0.12 0.13 0.14
weagss | TR 50cm 0.11 0.12 0.13
"E= | 50am 0.09 0.08 0.09
2REREFH | AR 510”“ g]z g]g 8]2

. (B SREF) _ cr - : -

FPIERILNER "E= | 50am 0.10 0.10 0.17
(EBLLIER7E) . Tam 0.16 0.17 0.23
woERER | TR 50cm 0.19 0.18 0.21
RE=E 50cm 0.10 0.11 0.11
_ Tcm 0.13 0.15 0.15
RERE PRRE 50cm 0.12 0.14 0.15
"E= | 50am 0.09 0.09 0.08
_ Tcm 0.11 0.16 0.13
ShoRam | TR 50cm 0.11 0.14 0.11
"E= | 50am 0.08 0.09 0.08
. Tan 0.14 0.12 0.14
yND A=z PRRE 50cm 0.14 0.12 0.16
"E= | 50an 0.09 0.08 0.10
- Tcm 0.13 0.14 0.13
=T SHRER PRRE 50cm 0.12 0.14 0.14
"E= | 50am 0.09 0.09 0.08
. o 0.12 0.10 0.12
KHUREFR PRRE 50cm 0.13 0.09 0.12
AT "E= | 50am 0.08 0.09 0.07
A,:— — Tan 0.14 0.12 0.14
HERBR 50cm 0.15 0.13 0.15
RE=E 50cm 0.11 0.13 0.13
. Tan 0.12 0.13 0.15
LIERERR PRRE 50cm 0.13 0.11 0.14
"E= | 50am 0.07 0.07 0.08
. Tam 0.09 0.10 0.09
KRBT PRRE 50cm 0.09 0.09 0.09
ST 1%%55 50cm 0.10 0.07 0.08
‘ i — o 0.14 0.12 0.14
R EERBFR 50cm 0.14 0.13 0.14
"E= | 50am 0.09 0.09 0.09
. o 0.11 0.12 0.14
SR ETR PRRE 50cm 0.10 0.10 0.14
"E= | 50am 0.09 0.10 0.10
. Tan 0.11 0.15 0.14
=2H samEER | R 50cm 0.12 0.16 0.14
"E= | 50am 0.09 0.10 0.09
- Tcm 0.13 0.10 0.11
=Eiizal:)) ofmmEss | R 50cm 0.11 011 011
"E= | 50am 0.07 0.08 0.08




AR ERERR (HILREFT) [FRi2 651182 7H~29HAED]

BT uSv/h
_ T AlEH
E=3 | ;E = 17
X (2B BIREF | MRS e e
. Tan 0.12 0.12 0.13
= AULIE] s lgEFR | TR 50cm 0.12 0.13 0.13
HBE= | 50cn 0.09 0.08 0.08
. Tam 0.09 0.09 0.70
ilesT:g R AR PRRE 50cm 0.11 0.10 0.09
"BE= | 50cn 0.08 0.08 0.08
. T 0.14 0.13 0.11
#gH] mERET | P [ Socn K 0.12 0.12
HBE= | 50cn 0.08 0.08 0.07
. T 0.13 0.70 0.12
AAHREEFR PRRE 50cm 0.11 0.10 0.11
\ ®BE= | 50cn 0.07 0.09 0.08
EHAED — Tam 0.09 0.09 0.10
R RETR 50n 0.09 0.09 0.00
®BE= | 50cn 0.09 0.09 0.70
- Tcm 0.16 0.17 0.19
IR AHAGEERHR PRRE 50cm 0.15 0.16 0.18
RE=E 50cm 0.11 0.12 0.11
. T 0.11 0.11 0.10
R ERET mERSET | P [ Socn 0.10 0.12 0.1
HBE= | 50cn 0.08 0.09 0.08




